XS PB

15. Dosierer

Ersatzteilbuch

Pos.Nr. Artikel Bezeichnung Artikel Nr.
* Dosierer Kpl. 7 Gramm XS/XM/XL PB 0350003110CL
* Dosierer Kpl. 9 Gramm XS/XM/XL PB 0350003310CL
1 Zugmagnet 24V DC Dosierer ELEOO00056
2 Gehéause Dosierer 0350003108
3 Schraube M 3 x 14 TCB DIN 7985 VIT0000028
4 Schraube M 3 x 12 TCB DIN 7985 VITO000005
5 Schraube Dosierer 0350003114
6 U-Scheibe 3,2x8x 0,4 VIT0009161
7 MUTTER M 3 UNI 7473 SELBSTSICHERND VIT0004814
8 Mikroschalter Druckpunkt Leicht Schwarz ELE0001522
9 Mikroschalterarm 0350003121
10 Stift Dosierer 0350003112
11 Sprengring VIT0007101
12 Schraube M 3 x 30 TCB DIN 7985 VITO000009
13 Mutter M 3 DIN 934 VIT0004502
14 ZAHNRAD DOSIERER 0350003113NA
15 HALTEBLECH ZAHNRAD DOSIERER 0350003122
16 Distanzscheibe Mikroschalter 7500102053
17 Einstellfeder Dosierer 0350003115
18 MUTTER M 3 VIT0004813
19 Schraube 2,9 x 9,5 TCB DIN 7981 VIT0002011
20 Klappenrahmen Dosierer 0350003105NA
21 Klappe Dosierer 9 Gramm 0350003314NA
22 Auswurfklappe Dosierer ab KW 12/14 0350003301NA
23 Anschlag Dosierklappe 0350003302
24 Achse 0350003109
25 Stift 1,5 x 8 DIN 1481 VITO005009
26 Verbindungsstift Dosierer 0350003111NA
27 Schraube 2,9 x 6,5 TCB DIN 7981 VIT0002001
28 FEDER DOSIERER 0350003116
29 Schraube M 4 x 8 TCB DIN 7985 Inox VITO000032
30 Zahnscheibe 3,2 DIN 6798 VIT0003102
31 Federblech Dosierer 0350003119
32 Abdeckung Gehause Dosierer7gr. 0350003128
33 Schraube 3,5x 12 TC VIT0002452
34 KONTAKTBOLZEN DOSIERER 0350003118

Stand: 16.03.2011

-32-

© rheavendors servomat



